Notes of Online class 1

Session 9

M MRYSH TVAIMNOEUYEMIVOS 2 IBEBBBOS D> BHEMBNIBEHIo.
2,5,8,11,14,17, 20, 23, 26, 29

D MLAIAMOCUYEM] BMIBE3H

QNBQOMMIM0 BGO BRGOLIYBH Mo HOS G2l 5 B2RIS1HBIHNo.
e20S1a:0d (2, 29), (5,26), (8,23), (11, 20)(14, 17) agamaiwosm”

e2R0S1 @ 31.

@6’ GRISIHGME" . a1B3E@BRBOS @& = 31 X 5 = 155

DOIN’ BB 2JBOBHEOWNE" . @RYBJl30 2 Do aldMIo alBo 29@RYIMEEI.BRAIWOS
@Hoem” 31 .

a1363B86S @& = 31 X 5 = (2+29) x 3

@RBYalBo T1 Do Ty af)ND® NAGDD alB30JAIWIBI

a1863B8OS @& = (11 + Tp) X 5

a1B63BBOS af)fRo BYMVOAIYHBIV GUEM] a)FHH0
9.5,8,11, 14, 17, 20
@O HOEMANCA DL GRISIWISHo.
(2,20), (5,17), (8, 14). emosivleNegpom 8@ moaly Mgaflejme’.ap 11 @ysmee).
c2R0S1D & 22.
al3EEBEes @ 22 X 3+ 11 =77
@IV @& = (2+20) x L =22 x I =77

M @UYeMI aflengo &»26mMIo .
2,5,8,11,14,17,20
A IBEBBBOS @ 77 @YSIMNEEI.
DHOWV alB3EBBOS af)sPo HMHIME a0@1J0@ MOl al3o &lgo . BRGIV®
77 +T7=11.
M@ Vo @RYUDIWEBRSBIGIM HAT al01HHINBB®)
@RYBYalBol1 Do NADM alBol;, Do BRYWIBI a1363B86S D> (a:l +xn) X %@@@1@1@80.
al368BBOS af)fiNo BQMVoRILWIWIM A IBEBBRBOS DdHOW af)elNo NS a0@].2J03
mgafloel aldo &lgo.

OBInON6MEBRUY
1) 8@ ALAOMMOCEYMIQHS BRYBYal3o 12, Hald®aIy® oo 3

a) cYIMIWHS MIRMWMIDo af)EDH:



b) O@al®0 allo af)@? 2

C) @RBIHOM DRaI® aIBBBBOS D> af)@?
ar,=dn+(f—d)=3n+(12—-3)=3n+9
b) 99 =3 X 20 +9 = 69

c) Sum of 20 terms = (z1+x20) X 2 = (12+69) x 10 = 81 x 10 =
810

2) 3@ MVAOMOGUYEMIVHS @136 D) 9@3@32@5 @ 2@Ryem”

a) @60 alBo af)@?

b) ©al10@ay®ITV03ERYWIG @RYBYaldo af)@?
€) cUYHMIWHS MNARWMI®GBalo af) D d:

d) cWMIYAS Qo |®I0 alBo af) D

€) BRI Qo|® AlBEBRBOS D dHEMINIABH:

Answer

a) BMal® al36EBSMEE:103 @RI AlBRdeM MSAeLel alBo , T5 =
2 _g

9
b) d = 3. a@edomn’r; = x5 —4d =8 -4 x3=8—-12=—4
)zpn=dn+(f—d)=3n+(-4-3)=3n+(-7)=3n—-7
d) 230 =3x30—-7=90—-7=283

e) 30 a186B86s @& = (21+130) X P = (—4+83)x15 = 79x 15 =
1185

3) 8@ TVAIMNOEUYHEMIWHS alTMIo alB3027, Ba|®o allol7@RYWITI

a) GEYIMIWAS Hald@AUY®LIMVo af)(@?)
b) @B3Jali3o af)@?
C) GWYIMIWHS MARWMIM(@Balo af)§Dd:

d) @QEIOC® OGBal® a136BBBOS D> HEMNBNIB3D:



Answer

a) T30 — 10 — 20d
20d = 67 — 27 = 40,d = 2

b)$1:$10—9d227—9X2:27—18:9
Qx,=dn+(f—d)=2n+(9—-2)=2n+7

d) Sum of 20 terms = (x1 + x9) X %
ODIMOW] o) @RYBLo 5N,
Tog =2 X 20+ 7 =47
Sum = (9 +47) x 2 =56 x 10 = 560

4) @RI’ 0 IBEBRBSS GO MVAVMDOCUYHM] af)§DH. FANIVOO alBo 2090 Hald®AIY®OaV4D0
@R)WIlaneMo. 2 1B368BEB6OS D> HEMINIBED:

Answer

* Mo alBo 3 = 20).00M%0 A IBEMIM” M@ QAUODo AMNE” A IB6BBUD
&S] (HOOMI@3 af) g0

x 12,16,[20], 24, 28

* al3eEBges @& 0 X r3 =5 X 20 = 100

@8 = (z1+25) X 2 = (124+28) x 2 =40 x 2 =20 x 5 = 100

'Compiler : John P.A, sjpuzzles@gmail.com , jpavpz@gmail.com | 9847307721



